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162 circles in a circle

radius =   0.128287399747
ratio  = 1262.789645121470

density  = 0.896959234640
contacts = 170
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163 circles in a circle

radius =   0.127956003172
ratio  = 1273.875363084687

density  = 0.897788582381
contacts = 186
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164 circles in a circle

radius =   0.127524654987
ratio  = 1286.025827845722

density  = 0.897166519528
contacts = 176
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165 circles in a circle

radius =   0.127166905850
ratio  = 1297.507389185996

density  = 0.897530252629
contacts = 194
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166 circles in a circle

radius =   0.126800820942
ratio  = 1309.139789207574

density  = 0.897729500390
contacts = 197
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167 circles in a circle

radius =   0.126414229049
ratio  = 1321.053818517010

density  = 0.897590584016
contacts = 184

 E.SPECHT
20-OCT-2015

N = 168

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42
43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

77

78

79

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

95

96

97

98

99

100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116
117

118

119

120

121

122

123

124

125

126

127

128

129

130

131

132

133

134

135

136

137

138

139

140

141142

143

144

145
146

147

148

149

150

151

152

153

154

155

156

157

158

159

160

161162

163

164

165

166

167

168

168 circles in a circle

radius =   0.126051280677
ratio  = 1332.790901427091

density  = 0.897740045685
contacts = 184
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169 circles in a circle

radius =   0.125694928811
ratio  = 1344.525205581331

density  = 0.897937640899
contacts = 202
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170 circles in a circle

radius =   0.125352179372
ratio  = 1356.179053695771

density  = 0.898284892331
contacts = 198
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171 circles in a circle

radius =   0.124969070585
ratio  = 1368.338575293149

density  = 0.898008166175
contacts = 181
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172 circles in a circle

radius =   0.124607557201
ratio  = 1380.333615897795

density  = 0.897995717111
contacts = 180
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173 circles in a circle

radius =   0.124292372480
ratio  = 1391.879457669466

density  = 0.898608092371
contacts = 192
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